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The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese

1. Answer the following as directed :
RopiiE ove e Oeg f g

(a) ‘Assc?ssment Year’ means the period
starting from 1st April endingon ____ of
the next year. (Fill in the blank)
IR T3 9o (arg {1 PR <2 g

i WIRT Wl 2 o, ol T OIRed
W oiq | (i 212 93 ¥91)

Contd.

1x7=7



: ‘ 1S ear :
(b) The year in which income 1S Ned ig

known as Assessment Ye.ar and the
year in which it is taxable 18 known as
PI‘CViOLlS Year. (State LUhether the

statement is True Or Fualse)

B! e ez we 54t = O LU T2
TG S Rith g T T O TS 7

@RI (Gfew! 9T o G997 Gz F41)

(c) Under the Income Tax Act, 196%, what
is the status of Dibrugarh University

as a ‘Person’?

SRR 3w, 1961 RPN, e 2pieel Rasre
ReRvrieTe sl & =@ @

(d) Tax liability of an assessee depends
upon his/her residential status.

(State whether the statement

is true or false)

T FICAN TG T4l (ST AT AT
37 esiTe W3 77|

- (Cfedd wm @ qum Gy 79)

(e) Agricultural income is taxable under
section 10(1) of the Income Tax Act,
1961. (State whether the statement

| is true or false)

FREe W, W77 o3y 19617 10(1)
e [T 2] |
(CI&D) war (o7 om Sy 31
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(f)

(g)

gection 48 of the Income Tax Act deals
with income that is exempted from tax.
(State whether the statement

is true or false)

SR W ) 48 (A WA 77T TGS
R TS Wi |
(Sfech! o 1 er9% Gy #1)

Agricultural land situated in a rural
area in India is a Capital Asset.

(State whether the statement

s true or false)

SIS 2 TS SRS e e
NG = (Cfeh! 9% (7 995 g 31)

Answer the following questions : 2x4=8

TS Rl e S g

(@)

(b)

Explain the meaning of long-term capital
gain.

AL FA A7 =l <o < |

State the meaning of uniform previous
year as per the Income Tax Act, 1961.

TR S 1961 SEpi) (Al SRS IS

CRREE
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3.

(c)

(d)

Define ‘Assessee’ as per the Income Tax
Act, 1961 .

- T i 1961 R AT T e

feray |

State the meaning of income-

SR w1 ey

Answer any three questions: S%3=15

RICHIeeTt o5t evam G vl

(a)

(b)

Briefly explain various heads of income.
ORE [fen Mremar v A0 59 |

Explain the manner of determining the
residential status under ‘resident and
ordlnarﬂy resident’ in India.

aﬁwmmm«w—mﬁwawwwﬁm
3o Fefa a9 ~mfe A 1|

Explain the meaning of ‘income from

other sources’ as per the Income Tax
Act, 1961 with any three examples.

1961 ped SINRY i3 SRR SN ST
mm%wﬂmﬂnwmmﬁm

@ﬁwwq frat



nil Barua is the oW,
(d) ~Mr- Arty which is let ner ofq house

rop€ ut h
fn nthly rent of Rg, ](y()}(; at a
ok o culars of the houge are iy nO}. ]’I‘he
selow

\ﬂﬁﬂ 234l @Bl ¥ Miferes RS 6

s
OOOOWW%'WWWWCW
R -

| MunlClpal
Valuation (MV) ~ Rs.1,30,000 p.a.

R SREIED
Fair Rent (FR) Rs. 1,10,000 p.a.
Standard Rent

under Rent Control
Act (SR) 1 Rs. 90,000 p.a.

oTel e Siew
w%ﬁmﬁ—“_m

Fire Insurance (,Elf\ﬁm) Rs. 600 p.a.
~ Municipal Taxes Paid  10%
(TR oW

Determine h1s income from house
SmCI‘lt \6&1

~__broperty for the asS€S -
' 202 1—22 -
2021-—-22 WW@WW R Al

otz
Contd.
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(e) For the Asgsessment 'Y:eav dia. Fr
Rameg}, is non-resident 1 5 ﬁnd B
the information given below for (t)}‘jt
hiS’income Chargcable to taX he
Assessment Year 202.1"22 :

=22
| wore frg wd A9

() Royalty received by him outsiqe
India from the Government of India
Rs. 17,000

SIS 5l ~ial Sieed ARTS A TR

() Technical fees received from P. Ltd.
(an Indian Company) in Germany
for advice given by him in respect
of a project situated in Dubai

Rs. 2,40,000 i
W@WWQ;TWW%WW
I P. Ltd (901 SRSRT o)1 11
SR 218 2Rfals wiper)

(i) Income from a businegg situated
in Sri Lanka~(goods are sold 1in Sri

ration is




A1Y W, % oy Fagd w9 =
SIFFSIE QTR 51 i SRFEFSE
Oed 7l

(iv) Income from a business
connection in India (it is received

outside India) Rs. 3,17,000

OITeq TS WRIE AT FATR 2|1 Al
Y (OReS qifee 21e))

4. Answer any three questions : 10x3=30
Ricaizan fefavr aisis Tes fora -

(a) What is a capital asset as per section
2(14) of the Income Tax Act, 1961 ?
Describe the procedure of computation
of long term capital gains as per the
provisions of this Act. 5+5=10

ITFE Sizd 1961-3 4|l 2(14)< TS SEL
TG [ = ¢ T wizaq [ae St Wy
EE S iR wfe a4

(b) Sitaram (age 45, resident) is a salaried
employee (salary being Rs. 40,000 per
~ month). During the previous year
2020-21, he makes the following

~ investment deposits or payments:
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e

%W (I 45, i) GGl (ASCSI5T
PG (A vz 40,000 T 1 2020-21
JIT01 IS (Seg Riffgs) ot A SN 9519
R wee onfesr .

(i) Life insurance premium (policy
taken in 2009) on the life of his
married daughter: Rs. 6,000/-
(sum assured is Rs. 20,000)

(i) Life insurance premium (policy
taken in 2011) on his own life:
Rs. 2,700 (sum assured
Rs. 60,000)

(iii) Life insurance premium (policy
taken in 2011) on the life of his
dependent sister : Rs. 10,000

(iv) Contribution towards recognised
Provident Fund : Rs. 9,000

(v) Contribution towards public
provident fund: Rs. 1,30,000

(vi) Repayment of loan taken from LIC
for purchase of residential house

property : Rs. 30,000

(vii) Contribution towards notified
equity-linked saving scheme of UTI
i.e., MEP 2021): Rs. 14,000

ite his Tax liability for the

~omput

gsoseéjsment Year 2021-22, assuming

‘hat his income from house property is

Rs. 2,28,900 ' 10
pHC/RC/C B
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St RIS (2009 v (oTEt) (999

) ot R A@ 6,000 B (AT

57 20,000 CR)

e AW GRAIE (2011 5 D

i 2,700 BB (TFS LT

60,000 GF)

i) RS SAICE A SR (2011
5% @) s 10,000 5

(v) Tpe o [ A 9,000 5l

(v) Public Provident fund-3 ¢
1,30,000 BH)

(vi) TRFCE 26 fFaflag qied LIC-S
o) (e Al AR 30,000 TR ,

(vii) UTI-S Notified Equity-linked Saving
Scheme (MEP 2021)-F Fit3
14,000 5 4 ’

(67 &G ~11 W 2,28,900 T 4fNCAT,

2021-22 &I 399 AR ($e7 F9-4e [efy

4 |

From the following Profit and Loss Account

of Sudesh Bhosale (Age 45 years; resident)

for the year ended on 31st March, 2021,

ascertain his Gross Total Income for the
Assessment Year 2021-22: 10

P (OPTEH (T 45 J2F, AR 31 W6
2021 OIR4 TR IZA0N oot Al Sre-
(I {25177 o] ($97 2021-22 Faiad)

i

4 (Sem-
(Sem~3/CBCS) ITLP HC/RC/G 9 _ Contd.



——

m

4 (Sem-3/CBCS) ITLP HC/RC/G

Particulars Amount T
() Rs) (50 | (o [Rs.) (51)

alari = 6,91000 |
%ﬂ%n - 26,800 |Gross Profits i

Gl
Bad Debts 44,000 gﬁmmissiOH 36,600
@ﬂﬁla“cﬁg 39 TR
glr < algﬁR@e%tm 4,000 |Brokerage 74,000
Insurance (3F) 1,200 |Sundry Receipts 5,000
General Expenses 52 000 | 2ife
A A/ 2 Bad debt Recovered 22,000
Salary to Sudesh Bhosale 1 02 000 |(earlier allowed as
deduction)

%?W T 4l TFd

Interest on Overdraft 8,000 |(SlT® F© T o ()
MIESEERCEET SIS Interest on Debentures 76,000
Interest on Loan to wife Y1999 890 IO

of Sudesh Bhosale 84,000
o™ (SFeR G 4]

@%go [l

Interest on Capital of

Sudesh Bhosale 46,000

AW (ST YeT4

8999 7O

Depreciation 96,000
O

Advertisement Expenditure 14,000

[Reati 495

Contribution to ]

Employees’ Recognise
grﬂ%\?%%nt Fund . 26,000

RGNl

SIS DI RGASICER 250

Net Profit 4,00,

o 0,04,600 |Total 9,04.600

10



Other information :

S WYy

(1)

(11)

(iii)

(iv)

(v)

The amount of depreciation allowable is
Rs. 57,000 as per Income Tax Rules

ST P SRSy srrmae oA

S7,000 B '

Advertisement expenditure includes
Rs. 3,000 being the cost of permanent sign
board fixed on the office premises

IR Seme Tl BN o (B3 @Y%) [z
3,000 Tl R@ivH 4959 Twe tare

Income of Rs. 3,08,700, accrued during the

previous year, is not recorded in the Profit
and Loss Account

Riore <= (o1 Bge ww 3,08,700 St #S- s
foi=re sege (et w17

Sudesh Bhosale pays Rs. 15,000 as

premium on own life insurance policy of
Rs. 70,000 '

70,000 TR e G T SiFDT @oms o
CSPTEET 15,000 Bt &S (s %) Bicet wnvin
fr

General expenses include Rs. 12,000 given
to Mrs. Sudesh Bhosale for pul‘Cha§mg iy
gift for g marriage party Qf a friend’s

daughter
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(v1)

(d)

(e)

(f)

%Tﬁmmﬁmmq%mﬂmﬁm
O AT C@mmﬁfﬂ i Ooom?ﬁﬂ@q%—w
W @@é@ k m — ’

Loan was takep fromh Mis gudesh Bhosale
for payment of arrears ofincoms X

TS Y| otz o et el TR T

Briefly explain th :
: e basic rules
deductions under section 80C t° 80U of the

Income Tax Act, 1961. §10
SR W13 19615 4 80C< 7 80U SIS
FETRIT TS Tis ey g A T <

Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10

ST I3 19619 RFPRE SFFAR (R
setting off Sl< (3@RA carry forward-J si@f®

A7 4l

Write short notes ofl the following :

governing the

5+5=10
e AR €T B (Bl el

: 1ine filing of returns of i

(i) On-line . income
s eferT s ST i)

deducted at source

Tax
1 by
" Geo® Fo1 T T
‘ G: 12
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